
The angle of intersection of the two curves is the angle between the two
tangent vectors to the curves at the point of intersection. Since r

′
1
(t) =

〈1, 2t, 4t3〉 and t = 0 at (0, 0, 0) , r
′
1
(0) = 〈1, 0, 0〉 is a tangent vector to r1

at (0, 0, 0) . Similarly, r
′
2
(t) = 〈cos t, 5 cos 5t, 1〉 and since r2(0) = 〈0, 0, 0〉 ,

r
′
2
(0) = 〈1, 5, 1〉 is a tangent vector to r2 at (0, 0, 0) . If θ is the angle between

these two tangent vectors, then cos θ = 1

1
√

27
〈1, 0, 0〉 · 〈1, 5, 1〉 = 1√

27
and

θ = cos−1

(

1√
27

)

≈ 79◦ .


